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Part — I
PHILOSOPHY
(General)
Paper — |l
Full Marks — 90
Time : 3 Hours
The figures in the right-hand margin indicate full marks.
‘Candidates are required to give their answers in

their own words as far as practicable.
llustrate the answer wherever necessary.

[Long Answer Type Questions]
Answer any two questions, taking at least one from
each Groups : 15x2
' GROUP - A
1. “Sense-Experience is the source of all

knowledge"—Which philosophical school holds
this view? Critically explain the arguments for and

against this view. 2+8+5=15
2. Give a critical account of the Indirect Realism.
15

3. “There is a necessary connection between cause
and effect”—Who said this? Discuss the
arguments in favour of this theory. Do you think

this theory is acceptable ? 1+8+6=15
P.T.O.



GROUP - B

What is conversion? Discuss the rules of
conversion with example. Why the conversion of
‘O’ proposition is impossible? 3+8+4=15
What do you mean by distribution of terms?
Explain with example the rules of distribution of
terms of four categorical propositions. 3+12=15

What is argument from Analogy? Discuss the
criteria for evaluation of analogical argument.

3+12=15

[Semi-Long Answer Type Questions]

Answer any five questions, taking at least two from

each Groups : 8x5
GROUP - A
7. Explain and examine the basic principles of Naive
Realism. Is the theory satisfactory? 8
8. Giva a brief account of Regularity theory. 8
9. Do you think that parallalism is a satisfactory
explanation of the mind-body relation? 8
10.  Explain and examine Barkley’s subjective idealism.
8
11. How does Locke refutes Innate Ideas ? 8
GROUP - B
12, What is meant by existential import of a

propasition? Explain with illustration the existential
import of the categorical propositions.  2+6=8

BA/Part-Il/PHI(G)-1I 2 Contd.



13.

14,

15.

16.

What is hypothesis? Explain different steps of
Scientific Method. 2+6=8

Test the validity of following arguments by using
Venn-diagrams :

(i) AAA — |

(iiy AAl = IV 4+4=38
Use truth tables to determine the validity of the
following two arguments :

() RvS)oT, ToRS) ..(RS)>(RvS)
(i) ((vd)od-d), ~(vIy ~(1-Jd)  4+4=8

Determine the following statement forms as
tantologus, self-contradictory or contingent by
using truth tables.

(i) PD[~PD(qv~q):|
) [Pdavn]=[PvayPyr) 4edeg

[Short Answer Type Questions]

Answer any five questions, taking at least two from

7.

18.

‘each Groups : ‘ 4x5=20

GROUP - A
‘Mind is a Tabula Rasa'—who said this and what
does it mean? 4
Give a brief account of Interactionism about mind-
body relation. 4
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19.

20.

21.

22,

23.

24,

25.

26.

What are the differances between synthetic
proposition and analytic proposition ? 4
Briefly discuss whether Barkely's Idealism can
be regarded as solipsism. _ 4

What are the main tenets of Kants critical theory?
4
Group-B

What are the differences between Scientific
Inductive Method and Unscientific Inductive
Method ? 4

What are the differences between Good Analogical
Argument and Bad Analogical Argument. 4

What will be the truth value of the following
propositions when P is false and Q is true :

(i) Po>Q)~@Q=P)

(i) ~Qu~P 2+2=4
Express the following propositions by means of
Venn-Diagram :

(i} A few soldiers are honest

(i) All non-Q are P 2+2=4
What will be the contraposition of :

(i) Some flowers are not red.

(i)  Only members will sit in the front row.
, 2+2=4
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